
L(f(t)) =
∫ ∞

0

e−stf(t) dt

Let F (s) = L(f(t)) and g(s, t) = e−stf(t)

F (s) =

∫ ∞

0

g(s, t) dt



F (s+ h) =

∫ ∞

0

g(s+ h, t) dt

F (s) =

∫ ∞

0

g(s, t) dt



F (s+ h) =

∫ ∞

0

g(s+ h, t) dt

F (s) =

∫ ∞

0

g(s, t) dt

F (s+ h)− F (s) =

∫ ∞

0

(g(s+ h, t)− g(s, t)) dt



F (s+ h) =

∫ ∞

0

g(s+ h, t) dt

F (s) =

∫ ∞

0

g(s, t) dt

F (s+ h)− F (s)

h
=

∫ ∞

0

g(s+ h, t)− g(s, t)

h
dt



F (s+ h)− F (s)

h
=

∫ ∞

0

g(s+ h, t)− g(s, t)

h
dt

Take the limit as h −→ 0

F ′(s) =

∫ ∞

0

∂g

∂s
dt



F ′(s) =

∫ ∞

0

∂g

∂s
dt

Since F (s) = L(f(t)) and g(s, t) = e−stf(t) then

d

ds
(L(f(t)) =

∫ ∞

0

∂

∂s

(
e−stf(t)

)
dt

=

∫ ∞

0

−te−stf(t) dt



F ′(s) =

∫ ∞

0

∂g

∂s
dt

Since F (s) = L(f(t)) and g(s, t) = e−stf(t) then

d

ds
(L(f(t)) =

∫ ∞

0

∂

∂s

(
e−stf(t)

)
dt

=

∫ ∞

0

−te−stf(t) dt

d

ds
(L(f(t)) = −L(t f(t))



d

ds
(L(f(t)) = −L(t f(t))

Example: Let f(t) = sinωt. L(f(t)) = ω
s2+ω2

d

ds

(
ω

s2 + ω2

)
= −L(t sinωt)



d

ds
(L(f(t)) = −L(t f(t))

Example: Let f(t) = sinωt. L(f(t)) = ω
s2+ω2

d

ds

(
ω

s2 + ω2

)
= −L(t sinωt)

−2ωs

(s2 + ω2)
2 = −L(t sinωt)



d

ds
(L(f(t)) = −L(t f(t))

Example: Let f(t) = sinωt. L(f(t)) = ω
s2+ω2

d

ds

(
ω

s2 + ω2

)
= −L(t sinωt)

2ωs

(s2 + ω2)
2 = L(t sinωt)
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√
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√

k
m then y = a cosωt+ b sinωt
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General initial conditions: y(0) = A and y′(0) = B
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